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1. If f(x) =x? —5x —6and g(x) = =—...

4 ' X3
—_ ) Evaluate g(f(4)) b) Evaluate (f + 9)(9)={{a)(?) o) Evaluate f (g (x)):F [7;
P [ -5 2] (35009 + (5 - (-
B i) T R il
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- 1 v C | oAD"
XAy X+ =30
2. Write a polyn0m1al whose roots are 5, and 3 + 2i )‘5“‘3 8 =
K-S YK~ (&~ Bl 12
-5 (KR-BARLx = Bxeq -k QLx ot~

X-D)(RAADY = Kk Bx- R0 6S = X4 3Eb9 o

3. Three consecutive integers have a sum of 261. Find the three integers. Show OW yOUr WO work.
YK 2 K XH Y2 =k - T A0 woore=s
G - i 1 56,57,3%
232X = 288
K= 56
4. Your salary was $27,500 in 2003 and $29,900 in 2006. If your salary follows a linear growth
pattern, write an equation to model the value of your salary each year. Then, evaluate what your

: 1’-&(? +l

salary would be in 20187 = E?OOXi’ 9,'7300 -
ao’ Qoo - il S B = m Y= | Qv-_, u\eﬂra 3@&2
AC06~20C3

3’5\7_79 SO0

Find the domain.

5x 7x? AR 8 \
s 2x + 60 3 x> —10x—-24+0 6', 3x -9 7. &x +16 nwc in oA
X2 (x— 13X +30) £0 BEA 20 o> O

@”’DUC’S O) s M = T
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Factor each polynomial and find the zeroes.

8. 3x* +6x=0 9. x*-2x-15=0 10. 25x2 - 121 =0
Lﬁ( XKy) = Ex e s =0 57( u 5}(“]3_'()
3o G el a Lﬁj
11. 2x* +5x-3=0 2. x? —19x + 48 13. 3x* -25x+28=0
(Px - Yx¥>)=0 X -18)(x-3)=0

14. 3x* -2x-5=0
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Graph each piecewise function: Create a T-chart for each function

2 x<-1 (o0,~T] 2, x<1 (~oo, 1]
17. f(x)=|x+1, -1<x<3 (), 3 18. f(x)=|6-x7, 1<x$3(i,33
-x, x=23 ["’),060) 2x—6, x>3 C’_%) C}O)
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19. Using the piecewise functi.on f(x), Evaluate f(—3),f(0), f(2),f(3),and f(5)
B s 2T é() '—'% @FE)= 6-BF (]

f(x)q/6—x2, l<x<3 . oF~ elas . il
2 2x—6’ x>3 @ _F[;\) —::G@.’CZ)Z @#:(55)"3(/) b D

Find the zeroes: #20 and 21, use the quadratic formula. For #22, complete the square
o ~(

%
o=t 20. x*-2x+3=0 21. x*+4x-21=0 22, 2x* +5x—12=0
gz B=BAlEEAfE) B K= AN 5 2 T o 52
Ce3 EYD = 50 X* +Zx-6 = Qz)
gl c=-3\ XZ+E, 435 =bads %
B iy x= 4o 2" Ve i _\;)Z
e 2 (ke SY= 2L (@
X =3rawa Ke=dib o IS
<L =S X+% ;i’_LL
. = - e
| X= x5, FE e 5.
X=-"1 ¥=3 =
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xfY = 849 .
23. The sum of t?vo numbers is 84. Find the maximum value of their product.
o h)threate a polynomial that represents all possible products.

8% = P % (745 = Moot Procthis
8+7< X2 = puo frococd
Max Cé\a, 17(0‘79

b) Find the maximum value of the product. ) ( e

< /
¢) What two numbers would you use to get this maximum value? 1t s M2
2ois 40

24. Suppose that the perimeter of a rectangle is 600 ft. If x represents the width of the
rectangle (in feet), then express the area of the rectangle as a function of x.

- Lg W
a) Create a polynomial that represents the area of the rectangle in term of x.

x[:ijy 9\?"192”30(0‘) !?:00~ lx % (300 -X) = Areon
WYsaaR=h : Z00K —X? = Areo~—
Qwav‘*ﬁ Max,(s() 22 0)

"j [ \ﬁﬂ(jﬂ’\
b) Find the maximum possible area of the box. 23,500 ]C+

¢) What are the dimensions that yield a maximum area.
L PR a ] T {34—

Le royft—is - ISO ]CJ/
25. The sum of two numbers is 29. Find the smallest possible s _r_n of the1r uares.
¢ R = oL BN N 'Hj = SumUrSCT‘)Q”’S
a) Create a polynomlal that it represents the sum of squares.
X js \SFEF X2 ¢ 22— XY e Somof Square s
A -X 15%7 PS8y +8H = Semof Sqares

L. [)Lh's' 470.5)
b) Find the smallest possible value of the sum of squares.
H20 .5
c) What two numbers would you use to get this minimum value? __
st s .S, e #F s S
26. Suppose that you are building a fence, using the side of a building as one side. You
have 250 feet of fencing to use for the other 3 sides.

\or e a) Create a polynomial that represents the area of the rectangle, in terms of the width w.

e ’ et QW+ =as0 ‘NL__J[/O A= w (750 'B(»D
L= 2502w B S -4
L 350200 X (b2.5,/7812.5)
b) Find the maximum possible area of the box. / §12.5 7[)?( e
¢) What are the dimensions that yie yield a maximum area 7_ o —_—
(ot 15 135

Witk s e 7[)%
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27. A projectile is fired from a cliff that is 500 feet above the water. The height, h
(in feet), is given by the function h(x) = —32x* + 128x + 500 where x represents
time in seconds. \ﬁ (f,,w;ﬁf)

a) Sketch a graph of the function and label
X intercepts, mlqepts, and maximum.

X=-F42  YAnt SO0 e X 243 -
X= b2 (= 63%) '
- b) Identify the x intercept that is important in this problem: @ .43
FIMQ) Goptlh
LN echlo
c) What does this value represent in practical terms? W\E}ﬂl Ej’ fjgéw
d) Identify the y-intercept: 500
: 4+ OO0
¢) What does this represent in practical terms? Projechle stalls > 704’
Qe CASOURLE

f) Maximum height: Q)QE“E How long does it take to reach this height? 2 Sec .

28. Use a graphing calculator to find ONE real root. Then, find the rest by hand.
x=3 fromcale .

; - 2
29. Using your calculator, graph P(x) = x3 + 5x% — x — 9‘26\' itk ,7)_%5”3:(3)6
_ , , 2l Min (.07, -4.09)
a) Identify any extrema as well as any points of mﬂec’uon.\p_t of Tnflechon X N
b) Describe the end behavior. X7 -0, -3 cud x =00, TR

¢) Find the zeroes.
) < —].4s el x=-4.82

v
30. Using your calculator, graph P(x) = —x? — 3x + 10
a) Identify any extrema as well as any points of inflection. |
G et P 772 s frs
X: 2 A X—%oorbj% (-’\[_/ lR,Q@

i



31, OD Vertical sfreich bﬂ%w 2
B) horrzental Compression by factr of 2
C% Vericol CoMPIEssion Jp(,j %Cl‘%@f )
) pormental shelch oy face o S



